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5 (20180126) O1C

0000 ¢000000000000000 e0z€l000 ¢l 00000000
00000 f(¢)=0000 f(z)=f(e) 00000002<e000000 [z,d]
0000000000000000 O

01.8. 00 JOD0O0DO0O0OO0ODOODOO F,GOOOOOOODO fO0O
000 ™0oO00 Ga)=F(z)+C(CO00)00000
00000000 F,GO000 f00000000 F'(z)=G'(z) = f(z)000

000000 H(z)=G(z)—F(zx) 000 100 H'(z)=0000000000 1.7
0000 I00000000 O

00000000000000000000000000
00 1.9. 00 (¢,b) 0000000000000 0000 O (a,b) 00
(0)000000000f0 (e,b) 00000 (00)D0OO 0

00000 (e,b) 000000 x1,22 0 z1 <2, 000000000000D0DDOO
0 [z1,22] 000000 14000000

f(z2) — f(x1)

DT _ ) @m <e<a(<)

0000 ¢0000000000000000 f'(c) >0 (f'(c) <0)0000zs—z1 >
00000000000

f(x2) = fx1) >0 (f(z2) = f(z1) <0)

0000000000 21 <22 000 f(x1) < f(z2) (f(z1) > f(z2)) DODODO
00000D000f00000 (00)0 O

00 1.10. 0000000 0000 f£O0O0ODODOYWOoOOODfO0O
0000 ¢O0Mf(c)>00000c000000 I00f0 I00OO0O0
000000000000000f# 00000 f(c)>0000 ¢cO0000O
00710 f(x)>00 I0000000000000 (000000 1IVO
0ooooo)o

)0000 a primitive; 00 a constant.

0000 (00) monotone increasing (decreasing); O positive; 0 negative.
gpgoo ¢t-oo

7)0000 000000000 foO0000oOoooooooo

010 (20180126) 6

0 1.11. 00000000000 fO000000O0O ¢O f'(e)>00000
O0000c00000DOO0ODO fOOODODOOOOODODOOOOOODOOO
1.3000 f0O f(0)=1/2>00000000000000000000
/I00f0O0O0OC0OOO0O0000O0OODODODOOOOOOOOOOOO O

OO00o0o00obO0oO0oD 1400000000000 140

00 1.12 (000000000). 00 [e,b) 0000000000 fOO
ooooooboo coOoOoooo

/ f(z)de = (b—a)f(c), a<c<b.

s 00000000 OO0OOoooOo0oili40000000C00000000
(0 IVOOOOODO0OO0Dooooooooooo)ooooo

00 1.13(000000000). 000 [@b) 0000000000 fOO
00 [¢,0) 0000000 DOODODO

000000 10000 fO0celI0O000 (000)000W®ODOO
00 2zel0000 f(z) < fle) (flw) 2 f(e)) DODODDOODOODOO
0 f000 10000 (000)00000000000 ceI0O000O0
00000000 I00 0 I000YOOO0OO00ec0000000 1
0000000000000 000000000000 I=[e,b 0000
c€(a,d)0 I000000ODG b0 I0D0O0OODOO

00 1.14. 00 /00000000 fO0 1000 cOOQOOOODOOO
00o000ooooo fO0 00000000 f(e)=0000000

0000 ¢0 I0000000O0O00DODOOO 600000000 (¢—4d,¢+6)0
/00000000 fO cOOODODOOOOOOCOO

f’(c) — lim f(c+ h) — f(c)

h—0 h

¥)oo0 the maximum; 000 the minimum.
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a<c<hb.

010 (20180126) 8

ooooo

F(z) = f(z) — f(a) % (9(2) — g(a)

0000o0D00D (Do 1.15) 00b0o0ooooa O

1.2 0000000

m 000000 OO0 JJCROODODOOOOOOOOOO fO0000 f
00000000000 f020 (20)000000000000f 000
O f0 f020000P00000000000 k=2200000k0
000000K00000O0O0O0O0OO0OOO0OOOOOOOOO

00 /00000000 f0 (k—1)000000000(k—1)
000000000000000f0 k0000000000
00(k-1)000000000 k00000000

o0 fO0 kOO00ODODOOOOOOOOO

d* d*
(k) Yy
(), dxkf(x), s

000000 y=f(x) 000000000 yOOOO
0 1.17. (1) 0000 n0000 flz)=2"00000 fF) (z) = n(
D...(n—k+1)z"* 0000000 k>n000 fF(z)=00
00
(2) f(x)=e*0000000000000 k0000 f®)(2)=e"
( =
)

O

r) =cosx 0O000OO00ODOOODOO AOOOO f®(2) =
DFcosz, fP*+)(z) = (~1)Ftlsinz 000000000 O0DOO

(_
O0mO000 f"™(z) =cos(z+25) 0000 &

oo 1.18. e 00 ID0DDODO fO0I0000D0DDODOOfO €00
ogboobogg

23)2 0000 the second derivative; k 0000 the k-th derivative.
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